| Efficiency vs Dxy |

0.5
0.45

©

s dxy

o
N

0.35

efficiency v

o
[

0.25
0.2
0.15
0.1
0.05

...................................

..................................

<0

Ratio

---------------------------------

10 15 20
TP dxy (cm)

| Efficiency vs Dz |

uare

PS

sEe

|| Erruuuu l:'ldL{)ld,B etaZé)
em a e Sle
8BE¥Sm atette H%FS%BZSEeED_

02

i

[hen-
it

~ 0.01
©
9.009
Py
.008
‘©
£).007
()
0.006
0.005
0.004
0.003
0.002
0.001

.....................................................................

Q

Ratio

0.5

20 30
TP dz (cm)

10




	Contents
	Page 1


